AP Physics 1:  Review Packet 01 RUBRIC

	Problem 1

(a)
H > B=C > D=F > A=G > E
(
B and C are equal

(
D and F are equal

(
A and G are equal

(
H is the highest

(
E is the lowest

(
H, B, and C greater than D and F

(
H, B, and C greater than A, G, and E

(
D and F greater than A, G, and E

(
The entire ranking is correct

(
Acceleration is the slope

(
Acceleration is the slope of a v vs. t graph

(
Positive slope means positive (forward) acceleration

(
Negative slope means negative (backward) acceleration

(
Zero slope is zero acceleration

(b)
F > A=C > E=H > B=G > D

(
A and C are equal

(
E and H are equal

(
B and G are equal

(
F is the highest

(
D is the lowest

(
F, A, and C greater than E and H

(
F, A, and C greater than B, G, and D

(
E and H greater than B, G, and D

(
The entire ranking is correct

(c)
F=D > A=B=C=E=G=H

(
F and D are equal

(
A, B, C, and G are equal

(
E and H are equal

(
F and D the first two ranked

(
The entire ranking is correct

(
Displacement is the area

(
Displacement is the area of a v vs. t graph

(
Positive area means positive (forward) displacement

(
Negative area means negative (backward) displacement

(
Zero area is zero displacement

(
Distance is found by taking all areas a positive

(d)
Ranking looks like (b)

(
Looks like (b)

(
Avg. Vel = Displacement/time

(
Time is the same for all objects


	(e)

(
(e-i) moving forward

(
(e-i) slowing down

(
(e-ii) moving backward

(
(e-ii) slowing down

(
(e-iii) moving forward

(
(e-iii) speeding up

(
(e-iv) moving backward

(
(e-iv) constant speed

(
(e-v) moving forward

(
(e-v) constant speed

(
(e-vi) moving backward

(
(e-vi) speeding up

(f)

(
(f-i) Graph C

(
(f-i) Graph G

(
(f-ii) Graph A

(
(f-ii) Graph B

(
(f-iii) Graph D

(
(f-iii) Graph E

(
(f-iii) Graph F

(
(f-iii) Graph H

(
Graph G speeds up, so it gains KE

(
Graph E starts and ends with the same speed, so no gain in KE

(g)
Graphs A, E, and G

(
Graph A

(
Graph E

(
Graph G

(
Acceleration points down the plane

(
Down the plane is backwards

(
These graphs have backward acceleration

(h)


(   C

(   B

(   A

(   F

(   E

(   G

(   D

(   H

Problem 2

(a)
Moving upward at 10 m/s

(
Moving upward

(
Moving at 10 m/s

(
The area of an a vs. t graph is change in velocity

(
The area between t = 0 and t = 12 sec is 10 m/s


	(b)
At rest

(
At rest

(
Between 5 and 10 sec the elevator gained 10 m/s of velocity

(
Between 15 and 20 sec the elevator lost 10 m/s of velocity

(
The elevator now has zero velocity

(c)
Above its initial position

(
Above its initial position

(
The elevator gains upward speed between 5 and 10 sec

(
The elevator moves upward between 10 and 15 sec

(
The elevator slows down between 15 and 20 sec

(
When the elevator moved, it only moved upward

Problem 3

(a)
Distance and time must be measured

(
A distance measuring tool is checked

(
The stopwatches are checked

(b)
A complete procedure would take 10 points of distance and time

(
The procedure explains how 10 distances can be measured

(
The procedure explains how the time for each distance is measured

(
The procedure takes all data with one run from the runner

(
All of the checked equipment is mentioned in the procedure

(
The diagram shows all of the pieces of equipment with labels

(c)
The data analysis should involve making a graph

(
A graph of distance vs. time can be made

(
The graph would have a curved part and a straight part

(
The straight part is when the runner has a constant speed

(
Find tu by when the graph begins to be straight.

(
The student explains using tu along with x = ½at2 or v = at to get acceleration
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